
Formulário

lk(x) =
(x− x0)(x− x1) · · · (x− xk−1)(x− xk) · · · (x− xn)

(xk − x0)(xk − x1) · · · (xk − xk−1)(xk − xk+1) · · · (xk − xn)

=
n∏

j=0,j 6=k

(x− xj)
(xk − xj)

Pn(x) =
n∑

k=0

lk(x)f(xk) = l0(x)f(x0) + l1(x)f(x1) + · · ·+ ln(x)f(xn)

En(x) = f(x)− Pn(x) = (x− x0)(x− x1) · · · (x− xn)
f (n+1)(ξx)

(n+ 1)!
onde ξx ∈ [x0, xn]

g(x) = α0φ0(x) + α1φ1(x) + · · ·+ αmφm(x)
(Φ0,Φ0) (Φ0,Φ1) · · · · · · (Φ0,Φm)
(Φ1,Φ0) (Φ1,Φ1) · · · · · · (Φ1,Φm)

...
... · · · · · · ...

...
... · · · · · · ...

(Φm,Φ0) (Φm,Φ1) · · · · · · (Φm,Φm)




α0

α1
...
...
αm

 =


(f ,Φ0)
(f ,Φ1)

...

...
(f ,Φm)


∫ x2

x0

f(x)dx =
h

3
[f(x0) + 4f(x1) + f(x2)]−

h5

90
f (iv)(η)∫ x1

x0

f(x)dx =
h

2
[f(x0) + f(x1)]−

h3

12
f ′′(η)

∫ b

a

f(x)dx =
h

2

[
f(x0) + f(xN) +

N−1∑
j=1

2f(xj)

]
− (b− a)

12
h2f ′′(ξ) onde ξ ∈ [a, b]

∫ b

a

f(x)dx =
h

3

f(x0) + f(xN) + 4

N/2∑
j=1

f(x2j−1) + 2

N/2−1∑
j=1

f(x2j)

− Nh5

180
f (4)(ξ) ξ ∈ [a, b].

∫ b

a

f(x)w(x)dx =
n∑

k=0

Akf(xk)

Formula de recorrência para polinômios ortogonais

φ0(x) = 1 , φ1(x) = xφ0(x) + α0φ0(x) , α0 = −(xφ0(x), φ0(x))

(φ0(x), φ0(x))
,

φn+1(x) = xφn(x) + αnφn(x) + βnφn−1(x), n = 1, 2, · · ·

αn = −(xφn(x), φn(x))

(φn(x), φn(x))
, βn = − (xφn(x), φn−1(x))

(φn−1(x), φn−1(x))

yn+1 = yn + hy′n = yn + hf(xn, yn)

yn+1 = yn + hy′n +
h2

2
y′′n + · · · , y′n = fn, y′′n = (fx + fyf)n

yn+1 = yn +
h

2
[f(xn, yn) + f(xn + h, yn + hy′n)] , n = 0, 1, 2, · · ·

1


